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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. fjtj dk iz;ksx fd;k tkrk gS % 
 

1. A ridger is also used for :  

(A) iz{ks= esa dw¡M+ cukus esa  (A) making field furrow 

(B) ukyh cukus esa  (B)  making channels 

(C) feêh p<+kus esa  (C)  earthing up 

(D) mi;qZDr of.kZr rhuksa dk;ks± esa  (D)  All the three items mentioned 

above 

2. fiLVu fiu dk nwljk uke gS % 
 

2. A piston pin is also called : 

(A) fjLV fiu  (A) wrist pin 

(B) xtsu fiu  (B)  gudgeon pin 

(C) uhfMy  (C)  needle 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 

3. tqrkbZ lekIr gksus ds mijkUr nks layXu dw¡M+ksa 

ds chp cuh vksisu VªsUp dgykrh gS % 

 
3. Open trench left between two adjacent 

strips of land after ploughing is called : 

(A) cSd Qjks  (A) back furrow 

(B) MsM Qjks  (B)  dead furrow 

(C) vksisu Qjks  (C)  open furrow 

(D) Qjks ghy  (D)  furrow heel 

4. flaxy flfy.Mj batu esa cM+s ¶ykbZ hy dk 

mís’; gksrk gS % 

 
4. In single cylinder engine, the purpose of 

large flywheel is to : 

(A) fuf”Ø; LVªksd dks pykuk  (A) carry the load of idle strokes 

(B) fiLVu dh xfr ij fu;U=.k djuk  (B)  control piston speed 

(C) pfyr iqtks± ds chp ds ?k”kZ.k ij fot; 

ikuk 

 (C)  overcome friction between moving 

parts 

(D) (A) vkSj (C) nksuksa  (D)  Both (A) and (C) 
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5. feêh iyV gy dk dk;Z gS % 
 

5. A mould board plough performs the 

function of : 

(A) d¡wM+ dks dkVuk  (A) cutting of furrow slice 

(B) dVh feêh dks iyVuk  (B)  turning of cut soil 

(C) e`nk dks mBuk ,oa HkqjkHkqjk djuk  (C)  lifting and pulverising of soil 

(D) mi;qZDr lHkh  (D)  All of the above 

6. batu dk Hkkx tks ØSad‘kk¶V ,oa dSe‘kk¶V dks 

lgkjk nsrk gS ,oa layXu djrk gS] dks dgrs  

gSa % 

 
6. The part of the engine which supports and 

encloses the crankshaft and camshaft, is 

called : 

(A) ØSad dsl  (A) Crank case 

(B) ØSad tuZy  (B)  Crank journal 

(C) esu tuZy  (C)  Main journal 

(D) Lyho  (D)  Sleeve 

7. ;U= }kjk okLrfod {ks= vkPNknu dks dgrs  

gSa % 

 
7. The actual area covered by the implement 

is known as :  

(A) izHkkoh {ks= {kerk  (A) Effective field capacity 

(B) {ks= n{krk  (B)  Field efficiency 

(C) lS)kafrd {ks= n{krk  (C)  Theoretical field efficiency 

(D) lS)kafrd {ks= {kerk  (D)  Theoretical field capacity 



 

Ag-303 ( 5 )  Set-B 

8. pkj flfy.Mj okys prq?kkZr pØ batu esa 

lkadsfrd v’o ‘kfDr dh x.kuk dk lw= gS % 

 
8. Indicated horse power in a 4-storke  

4-cylinder engine is calculated by the 

formula :  

(A) 
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n   
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(B)  
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n
  

 
(B)  
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(C)  
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n
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(D)  
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9. gy dk og fcUnq ftl ij lHkh cyksa dk 

ifj.kkeh dk;Z djrk gS] mls dgrs gSa % 

 
9. The point at which the resultant of all 

forces act in a plough, is called : 

(A) lsUVj vkWQ iqy  (A) Centre of pull 

(B) lsUVj vkWQ jsflLVSUl  (B)  Centre of resistance 

(C) lsUVj vkWQ Mªk¶V  (C)  Centre of draft 

(D) lsUVj vkWQ ikWoj  (D)  Centre of power 

10. okYo iz.kkyh esa dSe‘kk¶V ,oa VSisV dks tksM+us 

okyh bdkbZ gS % 

 
10. In valve system the unit connecting the 

camshaft and tappet is : 

(A) dSe  (A) cam 

(B) iq’k jkWM  (B)  push rod 

(C) jkWdj vkeZ  (C)  rocker arm 

(D) okYo fLiazx  (D)  valve spring 
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11. fMLd gSjks esa Liwy dk dk;Z gksrk gS % 
 

11. In disc harrow, the function of spool is  

to : 

(A) fMLd dks ,Dly ij fQDl djuk  (A) fix the discs on axle 

(B) gSjksbax dh xgjkbZ fu;af=r djuk  (B)  control depth of harrowing 

(C) gSjks dks VSDVj ls tksM+uk  (C)  hinge the harrow from tractor 

(D) f[kapko dks de djuk  (D)  reduce draft 

12. prq?kkZr pØ batu esa fiLVu ds gsM lsUVj ls 

ØSad lsUVj rd vkus esa ØSad‘kk¶V ?kwerk gS % 

 
12. In a 4-stroke cycle engine the movement 

of piston from head centre to crank centre 

causes the crankshaft to make : 

(A) 
1

2
 pØ 

 
(A) 

1

2
 revolution 

(B) 1-5 pØ  (B)  1.5 revolutions 

(C) ,d pØ  (C)  One revolution 

(D) 2 pØ  (D)  2 revolutions 

13. lhM fMªy dk vkdkj O;Dr fd;k tkrk gS % 
 

13. The size of seed drill is expressed by : 

(A) izfr bdkbZ le; esa cks;s x;s cht dh 

ek=k 

 (A) Amount of seed sown per unit time 

(B) e’khu dh yEckbZ × pkSM+kbZ  (B)  Length × width of the machine 

(C) izfr bdkbZ le; esa cks;k x;k {ks=Qy  (C)  Area covered per unit time 

(D) dw¡M+ cukus okys [kqjiksa dh la[;k × nks 

[kqjiksa ds chp dh nwjh 

 (D)  Number of furrow openers × 

spacing between two furrow 

openers 
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14. ,d prq?kkZr] 4 flfy.Mj okys batu esa ngu 

Øe gksrk gS % 

 
14. The firing order of a 4-stroke 4 cylinder 

engine is given by : 

(A) 1–2–3–4  (A) 1–2–3–4 

(B)  1–3–2–4  (B)  1–3–2–4 

(C)  1–3–4–2  (C)  1–3–4–2 

(D)  1–4–3–2  (D)  1–4–3–2 

15. IykUVj ds lhM fMªy ls fHkUu gksus ij vk/kkj 

gS % 

 
15. Planters differ from seed drill in respect 

of : 

(A) ehVfjax eSdsfuTe  (A) Metering mechanism 

(B) ikWoj VªkUlfe’ku flLVe  (B)  Power transmission system 

(C) tehu ds ifg;s dh fMtkbu  (C)  Ground wheel design 

(D) cht ds ckWDl dh fMtkbu  (D)  Seed box design 

16. VSªDVj esa Lusgu iz.kkyh bLrseky dh tkrh gS % 
 

16. In tractors, the lubrication system used  

is : 

(A) QkslZ~M QhM flLVe  (A) forced feed system 

(B) LIyS’k flLVe  (B)  splash system 

(C) eSuqvy flLVe  (C)  manual system 

(D) mi;qZDRk lHkh  (D)  All of the above 

17. lkekU;r;k lhM fMªy esa Qjks vksiuj gksrs gSa % 
 

17. In seed drill, the furrow opener is 

generally : 

(A) ‘kkosy Vkbi ds  (A) shovel type 

(B) ‘kw Vkbi ds  (B)  shoe type 

(C) fMLd Vkbi ds  (C)  disc type 

(D) mi;qZDr lHkh  (D)  All of the above 
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18. batu iz.kkyh esa gksrk gS % 
 

18. Engine system consists of :  

(A) b±/ku vkiwfrZ iz.kkyh  (A) Fuel supply system 

(B) ‘khryu iz.kkyh  (B)  Cooling system 

(C) Lusgu iz.kkyh  (C)  Lubrication system 

(D) mi;qZDr lHkh  (D)  All of the above 

19. lhM fMªy esa cwV dk dk;Z gS % 
 

19. In seed drill, the function of the boot is  

to : 

(A) lhM V~;wc ls lhM dks izkIr djuk  (A) receive the seed from seed tube  

(B) Qjks dks [kksyuk  (B)  open the furrow 

(C) lhM dks <duk  (C)  cover the seed 

(D) lhM V~;wc esa lhM dks fxjkuk  (D)  dropping seed into seed tube 

20. fuEufyf[kr esa ls dkSu&lk ty ‘khrfyr batu 

dk Hkkx gS \ 

 
20. Which of the following is the part of 

water cooled engine ? 

(A) fQUl  (A) Fins 

(B) jsfM,Vj  (B)  Radiator 

(C) dkcwZjsVj  (C)  Carburettor 

(D) LikdZ Iyx  (D)  Spark plug 

21. Qjks vksiulZ dh dk;Z {kerk ukih tkrh gS % 
 

21. Performance of furrow openers is 

measured in terms of : 

(A) cht cqokbZ dh xgjkbZ ls  (A) depth of seed placement 

(B) iafDr;ksa ds chp dh nwjh ls  (B)  row spacing 

(C) ikS/kksa ds chp dh nwjh ls  (C)  plant spacing 

(D) cht nj ls  (D)  seed rate 
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22. VSªDVj dh gkbMªksfyd iz.kkyh ds iEi vkSj 

mlds vax fLFkr gksrs gSa % 

 
22. In hydraulic system of tractor, the pump 

and its components are placed on : 

(A) VSªDVj dh fiNyh /kqjh ij  (A) rear axle of the tractor 

(B) VSªDVj dh vxyh /kqjh ij  (B)  front axle of the tractor 

(C) ih- Vh- vks- bdkbZ ij  (C)  P. T. O. unit 

(D) batu ds xfrikyd ij  (D)  flywheel of engine 

23. lhM fMªy dk dSyhczs’ku fd;k tkrk gS % 
 

23. Calibration of seed drill is done to : 

(A) lhM fMªy dh chtnj lsV djus gsrq  (A) set seed drill for correct seed rate 

(B) iafDr ls iafDr dh nwjh lsV djus gsrq  (B)  set it for row to row spacing 

(C) ikS/k ls ikS/k dh nwjh lsV djus gsrq  (C)  set it for plant to plant spacing 

(D) mfpr pky LksV djus gsrq  (D)  set it for correct speed 

24. batu ls lQsn /kqvk¡ vkus dk ladsr gS % 
 

24. In engine white smoke indicates : 

(A) Lusgd rsy dk flfy.Mj esa tyuk  (A) burning of lubricating oil in the 

cylinder 

(B) b±/ku esa ikuh dk gksuk  (B)  presence of water in the fuel 

(C) batu dk vksojyksMsM gksuk  (C)  that engine is overloaded 

(D) b±/ku ,oa gok dk xk<+k feJ.k gksuk  (D)  richer mixture of fuel and air 

25. lhM fMªy esa MkWx Dyp dk dk;Z gS % 
 

25. The function of dog clutch in seed drill, is 

to : 

(A) pky ij fu;a=.k djuk  (A) control the speed 

(B) f[kapko ij fu;a=.k djuk  (B)  control the draft 

(C) dw¡M+ dh xgjkbZ ij fu;a=.k  (C)  control depth of furrow 

(D) pkyd ifg, dks NqM+kuk  (D)  disengage the drive wheel 
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26. MkWx Dyp lkekU; :i ls bLrseky fd;k 

tkrk gS % 

 
26. Dog clutch is generally used in : 

(A) iz{ks= VªSDVj esa  (A) farm tractor 

(B) LdwVj esa  (B)  scooter 

(C) ikWoj fVyj esa  (C)  power tiller 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

27. Lisz;j dk dk;Z gS % 
 

27. The functions of sprayer is to : 

(A) nzo dks izHkkoh vkdkj ds cw¡nksa esa rksM+uk  (A) break the liquid into droplets of 

effective size  

(B) cw¡nksa dks lrg ds Åij ,dleku :i ls 

QSykuk 

 (B)  distribute the droplets uniformly 

over the surface 

(C) fNM+dko okys inkFkZ dks fu;af=r djuk  (C)  regulate the amount of spray 

materials 

(D) mi;qZDr lHkh  (D)  All of the above 

28. VSªDVj ds fMÝsaf’k;y ,oa pkfyr ifg;ksa ds chp 

yxh fx;j fjMD’ku bdkbZ dks dgrs gSa % 

 
28. A gear reduction unit between differential 

and drive wheels of the tractor is referred 

to as : 

(A) Qkbuy Mªkbo  (A) final drive 

(B) fjolZ vkbMyj  (B)  reverse idler 

(C) fMÝsaf’k;y ykWd  (C)  differential lock 

(D) Vkbfeax fx;j  (D)  timing gear 
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29. jkWdj Lizs;j pyk;k tkrk gS % 
 

29. Rocker sprayer is operated by : 

(A) pkyd dh ihB ij j[kdj  (A) keeping on the back of the operator 

(B) iSj ls  (B)  foot 

(C) gkFk ls  (C)  hand 

(D) eksVj ls  (D)  motor 

30. batu dh xfr ukih tkrh gS % 
 

30. Revolution of engine is measured by : 

(A) Mk;useksehVj ls  (A) dynamometer 

(B) VSdksehVj ls  (B)  tachometer 

(C) okV ehVj ls  (C)  watt meter 

(D) LVkWi okp ls  (D)  stop watch 

31. ‘kfDr pkfyr Lizs;lZ mi;qDr gksrk gS % 
 

31. Power operated sprayers are suited for : 

(A) cM+s {ks=ksa gsrq  (A) larger areas 

(B) fdpu xkMsZu gsrq  (B)  kitchen garden 

(C) cxhps gsrq  (C)  orchards 

(D) mi;qZDr lHkh  (D)  All of the above 

32. batu flfy.Mj ls tyh gqbZ xSl fudkyus dh 

fØ;k dgykrh gS % 

 
32. The process of removal of burnt gases 

from the engine cylinder is called : 

(A) LdsosfUtx  (A) scavenging 

(B) fMVksus’ku  (B)  detonation 

(C) ukWfdax  (C)  knocking 

(D) ngu  (D)  combustion 
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33. de {kerk dk ‘kfDr&pkfyr MLVj lkekU;r;k 

j[kk tkrk gS % 

 
33. Power dusters of small capacity are 

generally mounted on : 

(A) VSªDVj ij  (A) Tractor 

(B) ikWoj fVyj ij  (B)  Power tiller 

(C) pkyd dh ihB ij  (C)  Back of the operator 

(D) mi;qZDRk lHkh  (D)  All the above 

34. xfrikyd ifg;k cuk gksrk gS % 
 

34. Flywheel is made of : 

(A) dkLV vkbju dk  (A) Cast iron 

(B) ,Y;wfefu;e ,ykW; dk  (B)  Aluminium alloy 

(C) gkbZ dkcZu LVhy dk  (C)  High carbon steel 

(D) mi;qZDRk lHkh  (D)  All of the above 

35. dEckbu ds dk;Z djrs le; [kM+h Qly 

dEckbu ds dVj ckj dh rjQ <dsyh tkrh  

gS % 

 
35. While working, the standing crops are 

pushed to the cutter bar of combine by : 

(A) gsMj }kjk  (A) header 

(B) jhy }kjk  (B)  reel 

(C) dkWudso }kjk  (C)  concave 

(D) dUos;j }kjk  (D)  conveyor 
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36. leku ‘kfDr mRiUu djus dh n’kk esa eYVh& 

flfy.Mj dk batu ,d flfy.Mj batu dh 

rqyuk esa % 

 
36. For same power output, a multicylinder 

engine as compared to single cylinder 

engine is : 

(A) Hkkjh gksrk gS  (A) heavier 

(B) gYdk gksrk gS  (B)  lighter 

(C) leku Hkkj dk gksrk gS  (C)  same weight 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

37. vkWyiSM Fkzs’kj pyk;k tkrk gS % 
 

37. An olpad thresher is operated : 

(A) vkneh }kjk  (A) Manually 

(B) ,d tksM+h cSy }kjk  (B)  by a pair of bullock 

(C) VªSDVj }kjk  (C)  by a tractor 

(D) fo|qr eksVj }kjk  (D)  by an electric motor 

38. xhys iz{ks= esa VSªDVj dk f[kapko fuEu ds 

mi;ksx ls lq/kkj tk ldrk gS % 

 
38. The traction of tractor in wet field can be 

improved by using : 

(A) dst hy ls  (A) cage wheel 

(B) cM+s vkdkj ds Vk;j ls  (B)  bigger size tyre 

(C) vfrfjDr otu yxkdj  (C)  additional weight 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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39. Fkzs’kj ds flfy.Mj dh mPp xfr ls gksus okyh 

leL;k % 

 
39. A high speed of cylinder in thresher, 

causes the problem of : 

(A) vukt dh {kfr  (A) grain damage 

(B) flysaMj dh #dkoV  (B)  blockage of cylinder 

(C) mPp Fkzsf’kax n{krk  (C)  high threshing efficiency 

(D) mi;qZDr lHkh  (D)  All of the above 

40. VªSDVj ds fiNys fgLls dk vxys fgLls dh 

rqyuk esa Hkkjh gksus ls feyrk gS % 

 
40. Rear part of the tractor is heavier than the 

front part to get : 

(A) mPp d”kZ.k n{krk  (A) high tractive efficiency 

(B) fuEu d”kZ.k n{krk  (B)  lower tractive efficiency  

(C) ifg;s dk de fQlyu  (C)  less wheel slip 

(D) mi;qZDr lHkh  (D)  All of the above 

41. ih- Vh- vks- ls tqM+dj pyus okyh combine 

pykbZ tkrh gS % 

 
41. PTO assembled combine is operated by : 

(A) ikWoj fVyj ls  (A) Power tiller 

(B) VªSDVj ls  (B)  Tractor 

(C) LVs’kujh batu ls  (C)  Stationary engine 

(D) mi;qZDRk lHkh  (D)  All of the above 

42. le; ds lkFk e’khu ds ewY; esa fxjkoV 

dgykrh gS % 

 
42. The loss in value of a machine with lapse 

of time is called : 

(A) lSYost oSY;w  (A) salvage value 

(B) yksLV oSY;w  (B)  lost value 

(C) Msizhfl,’ku  (C)  depreciation 

(D) fjlsy oSY;w  (D)  resale value 
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43. ukWnZuZ jhtu QkeZ e’khujh Vªsfuax ,.M VsfLaVx 

bULVhV~;wV fLFkr gS % 

 
43. Northern Region Farm Machinery 

Training and Testing Institute is situated 

at : 

(A) ubZ fnYyh esa  (A) New Delhi 

(B) fglkj esa  (B)  Hisar 

(C) yqf/k;kuk esa  (C)  Ludhiana 

(D) p.Mhx<+ esa  (D)  Chandigarh 

44. VªSDVj batu dh ‘kfDr dks ihNs pyus okys 

;U= esa izsf”kr djus dh ;qfDr dgykrh gS % 

 
44. A device which transmits the power of 

tractor engine to the trailing implement is 

called : 

(A) ih- Vh- vks-  (A) P. T. O. 

(B) Mªkckj  (B)  drawbar 

(C) gkbMªksfyd  (C)  hydraulic 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. dsUnzh; d`f”k vfHk;kfU=dh laLFkku fLFkr gS % 
 

45. Central Institute of Agricultural 

Engineering is situated at : 

(A) bykgkckn esa  (A) Allahabad 

(B) iUruxj esa  (B)  Pantnagar 

(C) Hkksiky esa  (C)  Bhopal 

(D) ubZ fnYyh esa  (D)  New Delhi 

46. ,d ;qfDr ftlds }kjk Å”ek dks dk;Z esa 

ifjofrZr fd;k tkrk gS] mls dgrs gSa % 

 
46. A device by which, the heat is converted 

into work, is called : 

(A) ghVj  (A) heater 

(B) eksVj  (B)  motor 

(C) Å”eh; batu  (C)  heat engine 

(D) tsujsVj  (D)  generator 
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47. Qly dh o`f) gsrq e`nk dk eSdsfudy 

eSuhiqys’ku dj vuqdwy ifjfLFkfr rS;kj djus 

dks dgrs gSa % 

 
47. Mechanical manipulation of soil to 

provide conditions favourable for crop 

growth is called : 

(A) izkbejh fVyst  (A) primary tillage 

(B) lsds.Mjh fVyst  (B)  secondary tillage 

(C) fVyst  (C)  tillage 

(D) bUVjdYpj  (D)  interculture 

48. ,d vkneh esa ‘kfDr gksrh gS % 
 

48. A man can develop : 

(A) 0-10 v’o ‘kfDr  (A) 0.10 h.p. 

(B) 0-50 v’o ‘kfDr  (B)  0.50 h.p. 

(C) 0-75 v’o ‘kfDr  (C)  0.75 h.p. 

(D) 1-0 v’o ‘kfDr  (D)  1.0 h.p. 

49. feêh iyV gy dk mnxz >qdko izHkkfor djrk 

gS % 

 
49. Vertical suction in a M. B. plough 

influences : 

(A) e`nk dks HkqjHkqjk djuk  (A) pulverisation 

(B) feêh dkVus dh xgjkbZ  (B)  depth of cut 

(C) feêh dkVus dh pkSM+kbZ  (C)  width of cut 

(D) f[kapko dh fn’kk  (D)  direction of pull 
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50. dkcwZjsVj izeq[k Hkkx gS % 
 

50. The carburettor is the main part of : 

(A) Mhty batu dk  (A) diesel engine 

(B) Hkki batu dk  (B)  steam engine 

(C) xSl batu dk  (C)  gas engine 

(D) isVªksy batu dk  (D)  petrol engine 

51. ns’kh gy gS % 
 

51. An indigenous plough is :  

(A) izkFkfed tqrkbZ midj.k  (A) A primary tillage implement 

(B) f}rh; tqrkbZ midj.k  (B)  A secondary tillage implement 

(C) vknzZHkwfe iks[kj  (C)  A wetland puddler 

(D) cgqmís’kh; midj.k  (D)  A multipurpose implement 

52. batu esa dSe‘kk¶V yxk gksrk gS % 
 

52. The camshaft in an engine is mounted : 

(A) ØSad‘kk¶V ds yEcor~  (A) perpendicular to the crankshaft 

(B) ØSad‘kk¶V ls >qdk gqvk  (B)  linclined to the crankshaft 

(C) ØSad‘kk¶V ds lekUrj  (C)  paralled to the crankshaft 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

53. rosnkj gy ls tqrkbZ dh xgjkbZ c<+kbZ tkrh  

gS % 

 
53. Penetration of disc plough is improved  

by : 

(A) fMLd dks.k c<+kdj  (A) Increasing disc angle 

(B) fVYV dks.k c<+kdj  (B)  Increasing tilt angle 

(C) fMLd dh /kkj rst djds  (C)  Sharpening the disc 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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54. batu esa vkW;y iEi pyk;k tkrk gS % 
 

54. In engine oil pump is driven by : 

(A) dSe‘kk¶V ls  (A) camshaft 

(B) Vkbfeax fx;j ls  (B)  timing gear 

(C) ØSad‘kk¶V ls  (C)  crankshaft 

(D) mi;qZDr lHkh  (D)  All of the above 

55. dksYVj dk la;kstu fd;k tkrk gS % 
 

55. A coulter attachment is used with : 

(A) fMLd gSjks esa  (A) Disc harrow 

(B) lhM fMªy esa  (B)  Seed drill 

(C) ,e- ch- IykÅ esa  (C)  M. B. plogh 

(D) lcLok;yj esa  (D)  Subsoiler 

56. Mhty batu ds flfy.Mj esa laihMu ncko 

curk gS % 

 
56. The compression pressure of diesel 

engine inside cylinder varies from :  

(A) 15&25 fdxzk@oxZ lseh-  (A) 15–25 kg/cm
2 

(B) 25&35 fdxzk@oxZ lseh-  (B)  25–35 kg/cm
2
 

(C) 35&45 fdxzk@oxZ lseh-  (C)  35–45 kg/cm
2
 

(D) 45&55 fdxzk@oxZ lseh-  (D)  45–55 kg/cm
2
 

57. vkWQlsV fMLd gSjks dk lcls vPNk mi;ksx  

gS % 

 
57. Offset disc harrow is best suited to work 

for : 

(A) izkFkfed tqrkbZ esa  (A) Primary tillage 

(B) <syksa dks rksM+us esa  (B)  Breaking clods 

(C) Qy okfVdk dh [ksrh esa  (C)  Orchard cultivation  

(D) lrg dks ifj”d`r djus esa  (D)  Surface finishing 
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58. igyh n`f”V esa isVªksy batu dh igpku dh 

tkrh gS % 

 
58. At first sight, a petrol engine is identified 

by : 

(A) flfyaMj ds vkdkj ls  (A) Cylinder size 

(B) ‘kfDr mRiknu ls  (B)  Power output 

(C) ,;j Dyhuj ds vkdkj ls  (C)  Size of the air cleaner 

(D) LikdZ Iyx ls  (D)  Spark plug 

59. jksVkosVj dh ,d dk;Zokgh cjkcj gksrh gS % 
 

59. One operation of rotavator does a job 

equivalent to : 

(A) ,d tqrkbZ $ nks gSjksbax  (A) One ploughing + two harrowing 

(B) ,d gSjksbax $ nks tqrkbZ  (B)  One harrowing + two ploughing 

(C) dsoy ,d tqrkbZ  (C)  One ploughing only 

(D) dsoy ,d gSjksbax  (D)  One harrowing only 

60. flaxy flfy.Mj batu dks larqfyr djus gsrq 

izfrHkkj yxk gksrk gS % 

 
60. For balancing single cylinder engine, a 

counter weight is added to : 

(A) fiLVu ij  (A) piston 

(B) dusfDVax jkWM ij  (B)  connecting rod 

(C) ØSad‘kk¶V ij  (C)  crankshaft 

(D) xtsu fiu ij  (D)  gudgeon pin 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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